Factors Problem Solving Task
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Use the prompts below as relevant to help you find the answers. Think about working systematically. 
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Task 17 Question: Find the factors

Which of the digits from 1 to ¢ are factors of 5327

List the digits that you know are/aren’t factors of 532
without having to do any calculations.
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Tip 1: 532 has 2 ones. That helps us o know whether
2 and 5 are factors of 532.
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Tip 2: use a related multiplication fact. For example, 1
6x90=540. Is 6 a factor of 5327 :
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: for some digits it might be easier o perform a

Agree or disagree:

‘We know that 4 is a factor of 532. This means that
8 must also be a factor of 532.

factors of 288.
Reasoning sentence stems:
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I know that D is a 2-digit factor of 288 so D must 1
also be a factor of factor of 288. :
1
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The first 2-digit number | fried was... because...

Iknow I have found all the possible answers
1 because...
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Task 17: Find the factors: 1,2, 4,7
Explain: Disagree: half the muliples of 4 are not multiples of 8
Extend: 96, 72, 48, 36, 32, 24,18, 16, 12




